RZ MV (6) ZABOHL . Bl S

2]

AB=9,BC=8,CA=7Thd AABC DPEFDFLE [ £ T35, Al % AB, AC THY.

(BERER)
BD:DC=2:7=6%
Q" T Ale BC o Z&% De(l
- / AB- 47 + 75 AC
% 3. BD- fx -4
‘chg @7 a AL:1D=9: %4 = 2:/

0OA=2/2 ,0B=./3 ,0A-OB=2 T#H5 AOABDEL: HLT5L %

[R—

,OH % OA, 0B
TR,
@ 0 OFt= SOA+1t0B em<e
2 2 0=0A- BH
=oA - (or —oB)
A g B =6',K'(£0_A’-r't'5§"0—_§)
= PS+2t-2 S @gS+t=[ -0
0= 0B - AR

28 +3t-2 e 28+ 3t=2 -
D ,@+y /28 +3FE=3
—) 2843t =
/0.8 =/ L




AABCIZEWT, AB=3, AC=2, ZA=60°, A0k O 295, AB=b, AC=c &2 L%,
AO % b, ¢ #AVTEYE,

BY  AC- ST A+tT erm<.
VAEES
Tl=2

Z-T=3x2x%=3

AB. ACa BE T Kb M 1 K/ LG 3,
0= oH
-7 (A~ A3)
- T ST (sTHR))

= L)l sz~ 2T

?
O= = -9L-3¢

O=9—-7r&68—6T bS8 +r2t=3 @
0=7C-0oN

=C- (A —7A3)

- T [ AT- (st}

- L -8z T -l
0D=2-38S - «t s 3SyE=2 @

D. @ 285+ Yt= 4
=) 38+ t=2 |

Js RN L S .

51 RO=FE+4T

7

L4



